

Letting:

#### Florida Department of Transportation

12/02/2022

Page 1 of 1

**Vendor Ranking** 

Call Order: 005

Contract: E4W21-R0

AM

December 02, 2022 10:30

**District:** District 4

Counties: BROWARD

Fed Aid No: N/A

eu Alu No. N/A

**Project(s):** 43787927201 (\*)

Contract Time: 365 CALENDAR DAYS

Contract Desc: BROWARD COUNTY STATE PRIMARY MAINTENANCE OF TRAFFIC

04221202

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	TRAFFICO, LLC	Responsive	Winning bid	\$159,159.00	100.00%
2	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$423,097.00	265.83%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED: BEGIN DATE: 12/21/22 BEGIN TIME: 10:30 AM

END DATE: 12/28/22 END TIME: 10:30 AM

NOTE: The award amount and contract performance bond shall be based on the maximum limiting budgeted amount of \$200,000.00 and not the contractors bid total.



#### Florida Department of Transportation



#### **Tabulation of Bids**

Page 1 of 4

**Letting:** 04221202 December 02, 2022 **Call Order:** 005 **Contract:** E4W21-R0

District: District 4 Counties: BROWARD Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 43787927201 (\*)

Contract Descr: BROWARD COUNTY STATE PRIMARY MAINTENANCE OF TRAFFIC

The work under this Contract consists of Temporary Traffic Control (TTC) along the State Highway system on Broward

County.

MAXIMUM LIMITING CONTRACT: The award amount and the contract performance bond shall be based on the maximum limited budgeted amount of \$200,000.00 and not the Contractor's bid total.

BUSINESS DEVELOPMENT INITIATIVE -- Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at https://www.fdot.gov/equalopportunity/bdi.shtm.

For more information about bidding on BDI projects, please see the training guide located at https://www.fdot.gov/equalopportunity/bdi.shtm

Prequalification per Rule 14-22 is not required. Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: https://www.fdot.gov/equalopportunity/bdi.shtm

It is only necessary to submit the Small Business Affidavit (SBA) form once per year. Send a completed and notarized affidavit as an attachment to: SmallBusiness@dot.state.fl.us

All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work. Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashier's Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).

Line No / Item ID Alterna Item Description	Units	(1) TRAFFICO, LLC		(2) ROGAR MANAGEMENT & CONSULTING OF FLORIDA			
( ) indicates item is bid as Lump Sun		Unit Price	Ext Amount	Unit Price	C Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(TRAFFIC CON	ITROL (MH					
0005 0102 14 TRAFFIC CONTROL OFFICER	250.000 HR	55.00000	13,750.00	129.00000	32,250.00		
0010 0102 60 WORK ZONE SIGN	11,000.000 ED	0.15000	1,650.00	1.50000	16,500.00		



Page 2 of 4

# Florida Department of Transportation



## **Tabulation of Bids**

Letting	<b>g:</b> 04	1221202	December 02,	2022 <b>Cal</b>	l Order: 005		Contract:	E4W21-R0	
Line No / Item ID Alter		Alternate	ernate Quantity Units	(1) TRAFFICO, LLC		(2) ROGAR MANAGEMENT & CONSULTING OF FLORIDA			
	licates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(TRAFFIC CON	TROL (MH					
0015 TEMPOR ANCHOR	0102 71 15 RARY BARRIE RED	ER, F&I,	50.000 LF	35.00000	1,750.00	101.00000	5,050.00		
0020 TEMPOR STANDII	0102 71 16 RARY BARRIE NG	ER, F&I, FREE	150.000 LF	35.00000	5,250.00	48.00000	7,200.00		
	0102 74 1 ELIZING DEVI JM, OR LCD	CE- TYPES I,	11,000.000 II, DI, ED	1.00000	11,000.00	3.00000	33,000.00		
0030 ARROW ARROW		VANCE WARN	11,000.000 IING ED	5.25000	57,750.00	20.00000	220,000.00		
	0102 99 BLE CHANGE/ EMPORARY	ABLE MESSAC	199.000 GE ED	17.00000	3,383.00	28.00000	5,572.00		
0040 MOBILIZ RESPON	E101 72 ZATION (EMER NSE)	RGENCY	30.000 EA	1,000.00000	30,000.00	1,500.00000	45,000.00		
0045 TRAFFIO	E102 74 9 C CONES		11,000.000 ED	0.10000	1,100.00	2.00000	22,000.00		
0050 TRUCK (TEMPO	E102 97 1 MOUNTED AT PRARY)	TENUATOR	25.000 ED	741.04000	18,526.00	1,261.00000	31,525.00		
0055 MOT MA	E102100 AINTENANCE	SERVICES	100.000 HR	150.00000	15,000.00	50.00000	5,000.00		



# Florida Department of Transportation

12/02/2022

## **Tabulation of Bids**

Page 3 of 4

Letting:	04221202 D	ecember 02,	2022 <b>C</b>	all Order: 005		Contract:	E4W21-R0	
Line No / Ite Item Descri		e Quantity Units	(1) TRAFFICO, LLC		(2) ROGAR MANAGEMENT & CONSULTING OF FLORIDA			
	tem is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	_C Ext Amount	Unit Price	Ext Amount
	TION: 0001 ( IC CONTROL (MH) Sec	TRAFFIC CON	TROL (MH	\$159,159.00	\$159,159.00 \$423,097.00			
	Contract Gra	nd Totals:		\$159,159.00		\$423,097.00		



### Florida Department of Transportation

12/02/2022

**Tabulation of Bids** 

Page 4 of 4

**Letting:** 04221202

December 02, 2022

Call Order: 005

Contract:

E4W21-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.